Exercise 1 In a portfolio of insurance policies, the number of claims for each
policyholder in each year, denoted by N, may be 0,1, or 2, with the following
pf: fnv(0)=0.1, fn(1) = 0.9 — 0,and fn(2) = 6. The prior pdf of © is

92
= 0.039

fo(0) 02<6<05

A randomly selected policyholder has two claims in Year 1 and two claims in
Year 2. Determine the Bayes estimate of the expected number of claims in Year
3 of this policyholder.

(1) 1.722 (2) 0.722 (3) 0.322 (4) 1.319

Exercise 2 Suppose that X and Y have joint distribution

[ 8y 0<z<y<l
fxy(z,y) = { 0 otherwise

Find E(X |Y )and E(Y |X).

Exercise 3 The number of stops X in a day for a delivery truck driver is
Poisson with mean A. Conditional on their being X = x stops, the expected
distance driven by the driver Y is Normal with a mean of ax miles, and a
standard deviation of Sx miles. Give the mean and variance of the numbers of
miles she drives per day.
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